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ZER(English translatlon)
English@

Question

There are 150 boards with 4sun each side.
How many boards will it become if it is thinned 3sun 5bu,

Answer

It is 195 boards and length of 3sun 55U and width of 3sun 2bu gand
remainder of 11 4mou and cutting plate of 1 board.

Solution
4sun squared is 16, Multiply by 16™and 150 boards and become 2400---@®
Also, 3sun 5bu squared is 12fu 2bu 5ri...(2)
From @or @ 2400™ divided by 12fu 2bu 5ri js boards and 11fu 2bu 51,

Instruments of surveying in Edo
Tyuuhougi

The azimuth can be measured by the vertical angle and the compass.

There is no lens in the sight like a telescope, the needle protrudes
in the center of the cylinder.

Kannawa

It is the current tape measure.
A landmark wooden tag is attached to hemp rope every 1kan,
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There are 200 bundles of something bundled with 5shaku rope. AR EMNTE ., —DDMBEZZ AT AN R TEZASIET. WANNEIZ DLV,
If those are bundled with 4sun 5svaku rope instead of “hihata”, We puzzled first time addition, but we could solve additions while cooperating based
How many bundled something can you bundle?

on materials. We got applicability by thinking about one problem from many viewpoints.

Answer e
246 bundles and remnants are 9bu 1rin éi‘fﬁmﬁ%ﬁﬁ Future tasks
Solution ] e
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At first, multiply by 5shaku gand 5shaku "3nd become 25™, IE’?JJHI E’gdﬁfégo_a\_cgﬁ ’éﬁq:('féé::)l:tﬂfi\o RICEEENTTLES

Second, multiply by 25" and 200, and become 5000,

Put this on the right.

On the left, multiply by 4shaku 5sun gnd4shaku 5sun and become 20fu 2bu 5rin,
Divide 5000 by this on the right.

We want to make modern Japanese translation which no discomfort.

We spent a lot of time to prove of math. We want to solve problems even though
units are different from the modern.
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English translation was the most difficult but it was really had an experience good at all
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because we used textbook of mathematics used abroad.

We can easily solve these problems thank to knowledge of the mathematics

that old people built but we were surprised that they devised it
before those knowledge was built and solved mathematics. MR IWAEALZSE
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